TONEX @ |

ik e JANTI—F FEma—r | &% 542 | RFE/SVHE

OTNLVEARIDIUTENET 4954458101979 | 110201 | M2X0.4 | 25mm | —/10

*:EKSE 4954458101917 | 110211 | M2.3X0.4 | 25mm —/10
4954458101986 | 110202 |M2.5X0.45| 25mm | —/10
4954458101924 | 110213 |M2.6X0.45| 25mm | —/10
4954458102037 | 110203 | M3%0.5 |25mm | —/10
4954458101993 | 110197 | MS3X0.6 | 25mm —/10
4954458101931 | 110214 | M3.5X0.6 | 25mm | —/10
4954458102044 | 110204 | M4x0.7 |25mm | —/10
4954458102013 | 110199 | M4X0.75 | 25mm | —/10
4954458102051 | 110205 | M5%0.8 |25mm | —/10
4954458102020 | 110200 | M5%0.9 |25mm | —/10
4954458104604 | 110209 |M6X0.75MM| 25mm 110
4954458102068 | 110206 | M6%1.0 |25mm | —/10
4954458104598 | 110207 |[M7%1.0MM| 25mm 110
4954458102082 | 110208 | M8X1.25 | 25mm | —/10
4954458102105 | 110210 | M10X1.5 | 25mm | —/10
4954458102129 | 110212 | M12X1.75 | 25mm | —/10

JANI—F fmd—F |  mE SME | NFE/SE

4954458102136 | 110220 | M3X0.5 | 38mm —/10
4954458102143 | 110221 | M4X0.7 | 38mm —/10
4954458102150 | 110222 | M5%0.8 | 38mm —/10
4954458102167 | 110223 | M6X1.0 | 38mm —/10
4954458102174 | 110224 | M8X1.25 | 38mm —/10
4954458102181 | 110225 | M10X1.5 | 38mm —/10
» il 4954458102198 | 110226 |M12%1.75 | 38mm —/10

r\
TIH O
TRV —&F 1 AK)LES —

SR
O (RT-10-RT-13) VI CERFECRITLTHTEET,
@ (DDH-25)1 /SO NRS A IN—{EHTTAE, SNVEARIDTITENET,
)=
@SKS2

JANTI—R mmI—r | &% |ERs Tk AFE/NE
4954458102556 | 110253 | RT-10 |3~10mm| —/10
4954458102631 | 110254 | RT-13 |5~13mm| 6/36
4954458273850 | 110265 |DDH-25 |2~25mm| —/10

AT NN

BE JANTI—R mmI—r | @& |ERsTHE AFE/AE

05T A ATRULIDIERT DIRD 4954458102402 | 110240 | TH-6 | 3~6mm —/6
FHN\VRL 4954458102419 | 110241 | TH-10 |4~1omm| —/6
4954458102426 | 110242 | TH-13 |4~13mm| —/6
¢ 4 4954458102433 | 110243 | TH-20 |6~20mm| —/5

4954458102440 | 110244 | TH-25 10~25mm —/5

JANI—R EmmI—r | ®E | SMXF | AT/

4954458102600 | 110260 DH25 25mm —/6
4954458102617 | 110261 DH38 38mm —/6
4954458102624 | 110262 DH50 50mm —/6

= BE

@/ \RIUIRDTDIEA. / A FDEEIDIC

; e

il @SK48C i

3 JANTI—F Emma—R | @FE [EREYX| NFE/SME

g 4954458103218 | 110321 | TR1 |3~12mm| —/6

2 4954458103225 | 110322 | TR2 |3~16mm| —/6
4954458103232 | 110323 | TR3 |4~22mm| —/6

203



